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Introduction: Trading grids (Martingale) can be very profitable but on the other hand very risky. A Martingale Grid can only be used in a safe way in a certain price range. If this range is exceeded the drawdown become dangerous for the account. In the internet there are quite a lot of approaches to overcome this issue but honestly most of them have a weak point that make it dangerous to use without a hard stop loss in case of emergency. The following idea is a safer way to trade Martingale Grids. 
Other approaches similar to my idea are the gwf (go with flow) ea project that can be found here.
https://www.forexfactory.com/thread/765739-success-with-martingale-hedge-possible?page=1
It place a Marti Grid and at some stage a Hedge Grid. The gwf ea has the disadvantage that Lot sizes aren’t well balanced and this is the weakness because it can’t efficiently reduce drawdown.  
Other Similar EA
https://www.mql5.com/en/market/product/50683?source=Site+Market+MT4+Expert+Search+Rating006%3aGrid+Machine
Another approach is the expert EU_M_AM_RM_V22.06h_Test.ex4 which also use a Marti Grid and a Anti Marti grid. 
https://www.google.com/url?sa=t&rct=j&q=&esrc=s&source=web&cd=&cad=rja&uact=8&ved=2ahUKEwjSnraGr5KFAxVrmYQIHRLXC24QFnoECA8QAQ&url=https%3A%2F%2Fwww.forexfactory.com%2Fthread%2F765739-success-with-martingale-hedge-possible%3Fpage%3D23&usg=AOvVaw2gPBilgwZjVC1Kw1tFYNRP&opi=89978449
The difference is the lot multiplier. At the same price it places buy and sell orders but with different lot volumes. This is some kind of stupid because it is basically not more than a subtracted Marti Grid.

My strategy that I explain next consist of two grids. One grid is a standard Martingale Grid controlled by so called “engine 1” This is the grid that buildup drawdown when the price moves against it. The other grid is the Hedge Grid controlled by “engine 2” This grid builds up profit and hedge the Martingale grid. 
The strategy just relays on price movement in any directions, no indicator or event filter is needed. It should have a filter to prevent new orders when spreads are high, for example overnight.
Now back to my idea. The robot trade buy and sell at the same time with the same lot size. It follows a grid, based on a fixed distance. Overnight, when the spread is high, it inhibits orders. The next martingale level could then later have a larger grid distance but this doesn’t affect the strategy.   
Basic Rules:
1. The first rule is that a buy and sell order with the same lot size and same price are placed at each Martingale Level. 
2. A fixed grid distance for the next level is used. For example, 40 pips
3. A Lot Multiplier is used
4. The Martingale grid of buy orders (in this example the losing grid) expand in the direction of the trend. The trades from the Martingale grid are important in case of a price reversal to calculate the Equity Take Profit and when the profit conditions are met the Expert sell off all positions. 
5. The Hedge Grid of winning trades is treated different. From the first level on, each trade has a Breakeven SL and when the next Martingale Level is reached, it change the Breakeven SL to a  higher Profit SL. For example a 40 pips grid, if an order is 20 pips in profit it set BE to 10 pips in profit. If the next Martingale Level at 40 pips is reached, it move the BE from 10 pips to TP 20 pips in profit.
6. Sold Hedge Orders can be restored during trading. For example see picture below, if a Hedge Trade from level 3 was sold in profit (this is for example the zone between Level 4 and 3). To be restored, it has to reach a certain distance in pips in (the upper zone which is between level 2 and 3) and then it has to reverse to pass level 3 again. The Hedge will be restored at level 3.   

Example: We assume a first level with buy and sell trades was opened followed by a strong sell trend.
A practical example: We assume that this a bad day and the price drop 185 pips without reversal. With a Martingale Step of 40 pips, we have 5 lines in a range of 160 pips. The result for now is that we moved 185 pips from the original price and there is except some commissions no drawdown!!! The basket of orders is complete hedged. We also have a low Margin. The direction in which the grid develops is neutral. We know that even the biggest move will have a reversal. We look now from that direction. 


Rules for engine 1 (Martingale Grid) 
1. It will just wait until the basket of martingale trades reach a defined profit target. The hedge trades are not taken into account. It use Equity Trailing. This is a function used in ForexFlexEA and works well. 

Equitytrail A new trailing stop mode based on the floating profit of open trades. So with an 

EquityTP of 1.0% and a Locked Profit of 50% and a EquityStep of 0.1%

once your open martingale trades hit a profit of +1.0%, it locks in a profit of 0.5% (50% from 1%) the next EquityTP will increase to +1.1% and the EquitySL will be set to 0.6%. If the 1.1% is reached it will increase to 1.2% and the EquitySL will trail up to 0.7%. This will continue to happen until the profit drops back down far enough to hit the EquitySL.

In addition there is also a normalize factor necessary that scale the Equity TP and SL based on the sum of total lots of all martingale orders. For example if there are only a few martingale levels and the total lots are 0.38, then the Equity TP and SL is multiplicated with that value. 

Parameters are
Equity TP %
Equity SL %
Locked Profit %
Normalize Factor for example 1 Lot = 1% of Equity

Rules for Engine 2 (Hedge grid)
2. Engine 2 will act in a different way. What will it do? When a trend has a reversal, the Martingale Grid is in a loss and the Hedge Grid is in profit. When the price reverse, the Hedge Trades are sold one after another in profit.

Example: We assume a lowest price level in the trend followed by a reversal. Grid distance is 40 pips. We have to define the following parameters.

Take Profit = 20
Break Even Trigger  = 15
Break Even Profit = 10 
Restore Hedge Gap = 20

We just look now at the Hedge orders. For a better understanding the total distance from the first line is colored blue. You can also draw 5 lines on a paper to visualize this.
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At a total distance of 185 pips the price is 25 pips below the last Marti line (4 x zone 40 pips = 160 pips, 5 lines in total). That means that the Break-Even Trigger (15 pips) for the latest hedge order (line 5 at 160 pips) was activated at (175 pips) and SL was set for this order 10 pips below at (170 pips). Now the price reverse, it increase more and the sell hedge order from line 5 is sold 10 pips in profit. 

To restore “this” sell position from line 5 the price has to move to line 5 + the restore hedge gap of 20 pips. In this example this is the middle position between line 5 and 4 at (140 pips). From that it has to go back to line 5 at (160 pips) and a new sell order is placed. We need here some room that the price can play out not placing a new hedge order too early, that is why we need the restore hedge gap. 

Now we assume the price go further up and the sell order from line 4 (120 pips) is sold with 20 pips in profit at (140 pips). The price goes now further up and may cross line 4 (120 pips)of the Martingale Grid. We are now 65 pips up from the lowest point of the chart and made up one martingale level. Since all other trades are hedged, we are with the largest Marti order 40 pips in profit and sold two hedge orders in profit (10 + 20 pips). At this stage Engine 1 may fulfill its first goal and set a Equity Trail which lock profit of the basket.

All orders will be sold when engine 1 detect Equity Profit SL and the whole basket of orders has a minimum profit in USD. 

Definitions: Neutral Lines and gaps

What is this? 
A neutral position is a complete hedged martingale level. If price moves it is neutral to the account equity.

What are gaps?
Gaps can only occur in the Hedge Grid. This happens when a Hedge Trade is sold in profit but the conditions for restoring this position weren’t met. The result is a partially hedged basket. The positions that aren’t hedged are the only ones that contribute to the drawdown. The chance that a gap occur is larger in ranging markets, rather than trending markets but in ranging markets the Martingale Grid work usually well. If there is an event and price drop like a stone or go up like a rocket, there is a high chance that the positions from the Marti grid are all fully hedged and so the drawdown is significantly reduced. 

What are the advantages of this strategy. It combines the strength of grid trading with the safety of a hedge. Because of the hedge it generates profits in one direction two times. Because of the neutral positions the Marti Grid could be sold much faster in profit because it doesn’t need to work against a large drawdown. 

What are the disadvantages of this strategy? It still has the risk of a martingale grid but in comparison, a partially grid is less dangerous than a none hedged grid. 


EA Parameters  

Magic Number
Comment
Start Lot fixed
Start Lot based on Equity (Risk %)
Emergency Sell Off at > x% of Equity
Inhibit Trades by Time range # hours over night (no trades) 
Inhibit Trades by max spread

# Martingale Grid
Grid Distance in Pips
Lot Multiplier
Equity TP %
Equity SL %
Locked Profit %
Normalize Factor for example 1 Lot = 1% of Equity
Minimum Profit of all orders incl commission and swaps

# Hedge Grid
Take Profit = 20
Break Even Trigger  = 15
Break Even Profit = 10 
Restore Hedge Gap = 20



Possible Difficulties and Simplifications

To make it simple with the Equity Trail Take Profit, it is just calculated by the orders from the Martingale Grid “Engine 1”. The Hedge Orders “Engine 2” are ignored.

When the conditions to sell off the Martingale Grid are met some remaining Hedge Orders are sold in Profit or neutralize the last Martingale Grid Order. The result of all lots in summary should have a minimum profit.   

If a Grid space is different than specified, for example it could happen during night time when a trade is prohibited, then a new line is placed at the next allowed time. There is only the case with a larger pipstep possible. In our example this was 40 pips and now it would be 44 pips. This has no influence on the trading strategy.   
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